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2y  073% (-2.1bp)
10y 1.56% (-1.2bp)
30y 2.28% (-1.5bp)

[7|Et 10YE]

= 072% (+1.3bp)
=9 -0.12% (+2.8bp)
Z2tA 0.18% (+2.8bp)
o|Efz2[o} 121% (+3.0bp)
AHO  091% (+2.0bp)
d2|A  810% (+0.3bp)
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DOW30 18143.45 (-1.07%)
NASDAQ 5269.15 (-0.93%)
S&P500 215113 (-0.93%)

NIKKEI225  16693.71 (+1.39%)
SHANGHAI 2998.48 (+0.36%)

FTSE100 6919.42 (+1.02%)
DAX30 10405.54 (-0.31%)
CAC40 444384  (+0.26%)
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COMEXE@  1326.00 (+0.2%)
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AAL  2068.72 (+0.76%)
AACH  689.83 (+0.45%)
QI/Et{ 1098.80 (+2.00)
KTB 110.89 (+0.07)
LKTB 132.89 (+0.24)
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ly 13270% (+0.10bp)
3y 1.2970% (-0.70bp)
Sy 1.3200% (-1.50bp)
10y 14560% (-1.20bp)
20y 14940%  (+0.30bp)
30y 14990% (-0.70bp)
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1Y -610bp (-1.05bp)
2Y -855bp  (-0.70bp)
3y -570bp  (-0.55bp)
5Y -7.25bp  (-0.25bp)
10Y  -16.60bp (-1.80bp)
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2Y 1.0300% (-1.00bp)
3Y 0.9950% (-1.50bp)
5Y 0.9300% (-1.50bp)
7Y  0.8700%  (-2.00bp)
10Y 0.8400% (-2.00bp)
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